Worksheer €3 SLlrhon

62% X=50m* O ws * Yy |0 w/s ﬁ“"f?w/)".’fl
(<=3 LAk (= ok -4.972")

T —4—(3+4—;e) @

V, % - j; lo;f—%f\ = 60 9@,7(:) wfs

g . d .
A
ﬁ.., dv., - £ o 9%:) ~W
YRR IV AV my*(lo-‘},ﬁf)l

= ﬁ"“ 100-196tf96.04xz

= fllé ~ 196 + 96,04 £
b o o (T

Oq\/ % ‘ - |96 + 192,084

€. = . = f“’—"’_z’> - .

ym © |16 -1964+96 o4k > r_/‘—fu&wé:m%mx’-
l9‘2.oﬂ;t—l% . o4 - 9B

mfs
2] ue—fqém%fm [ 16~ 19LTLA96. 09




6)» (ot 52

—
a, = GV = Ok TAY
\YJ Vv B

©) () + ( ~9.%) (,0_ %x:)

J 116 -1963¢ +96.04 £

. 96 04 x - 9%
D116~ 1964496, 02 22 T

A\/
a~d a, sheld be e same [ e
, Al Y asrt.

dt
a
yEe ond
o shald t pecessonly b
| g? a ‘”‘e M/ 06' —d._vz M
Uale ooc V2] = o : o
g pd ch/ 47
g );/




